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TH6FE 19, 877,073
THRALZEBERENERERES 19, 877,073
THERLZEBERENERERES 19, 877,073
EEAGE 18, 703, 200
THERLZEBERENERERES 18,592, 800
| TEHEZEBRENERMERES 12. 00 1, 549, 400 18,592, 800
A
ik - WS 110, 400
2 & - W|E 1.00 110, 400 110, 400
=
EEEE 1,173,873
EHARE 181,291
S EHAME 1.00 181, 291 181, 291
=
BEEERARE 362, 582
4 BEHERARE 1.00 362, 582 362, 582
=
EBRAEBEENE S UVEGRES 600, 000
S XBERABEEENS S VERES 1.00 600, 000 600, 000
=
EBHRERE 30, 000
6 XBERRRE 1.00 30, 000 30, 000
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% g & - BARTE Bifg B 2 B ® & wmzE
FH6EFE 18,703,200 + 1,173,873 19,877,073
EEAGE 18,703, 200
EEEE 1,173,873
T DR 18,703,200 x 42.86% ( 30% + (1 — 30%) ) 8,016, 191
EHRE 19,877,073 + 8,016, 191 27,893, 264
—REEES 27,893,264 x 53.85% ( 35% = (1 — 35% ) ) — 3,786 15,016, 736
ES it 27,893,264 + 15,016,736 42,910, 000
HBETEALE 42,910,000 x 10.00% 4,291,000
EBREH 42,910,000 + 4,291,000 47,201, 000
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2 L7 g - BIRTE By = B ff ® " =
BEIERIE ek (A)
A 0.70 55, 200. 00 38, 640
LTS ek (C)
= 1.00 1,510, 760. 00 1,510, 760
& it YE%8EH : 1.008 1, 549, 400. 00 1,549, 400
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B 1% - e 1%
2 L7 g - BIRTE By = B ff ® " =
& FrF ek (A)
A 0.50 55, 200. 00 217,600
Bl [iE A (A)
A 1.00 55, 200. 00 55,200
ETE5E T HFEF ek (A)
A 0.50 55, 200. 00 217,600
& it 1EZRER - 1.00 110, 400. 00 110, 400
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&% BHEARE 1%y
2 L7 g - BIRTE By = B ff ® " =
EHARE
= 1.00 181, 291. 00 181, 291
& it 1EZRER : 1.00 181, 291. 00 181, 291
x5 :4
2 EERERRE 1KLY
2 L7 g - BIRTE By = B ff ® " =
BERERARE
= 1.00 362, 582. 00 362, 582
& it 1EZREA - 1.00 362, 582. 00 362, 582
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s EiaN
= 1.00 600, 000. 00 600, 000
& it 1E%8EH : 1.00= 600, 000. 00 600, 000
F5:6
2 EBHRRE 1KY
2 £ g - BIRTE By = B ff %8 " =
EBHRRE
= 1.00 30, 000. 00 30, 000
& it 1E%8EH : 1.00= 30, 000. 00 30, 000




